
2. Addition    
                                                     

5 + 842 + 1.520 + 86 = 
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462 + 7 + 4.621 + 55 = 

           

 +          

 +          

 +          

           

           
 

3.513 + 5.234 + 8.235 + 4.213 = 

           

 +          

 +          

 +          

           

           
 

752 + 9 + 81 + 495 = 

           

 +          
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56 + 2.519 + 123 + 5 = 

           

 +          

 +          

 +          

           

           
 

592 + 413 + 716 + 824 = 

           

 +          

 +          

 +          

           

           
 

57 + 812 + 4.652 + 8 = 

           

 +          

 +          

 +          

           

           
 

2.354 + 654 + 812 + 4.684 = 

           

 +          

 +          
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2. Addition Ergebnisse 
 

     5      

 +  8 4 2      

 + 1. 5 2 0      

 +   8 6      
  1 1 1       

  2. 4 5 3      
 

 

   4 6 2      

 +    7      

 + 4. 6 2 1      

 +   5 5      
  1 1 1       

  5. 1 4 5      
 

 

  3. 5 1 3      

 + 5. 2 3 4      

 + 8. 2 3 5      

 + 4. 2 1 3      
 2 1  1       

 2 1. 1 9 5      
 

 

   7 5 2      

 +    9      

 +   8 1      

 +  4 9 5      
   2 1       

  1. 3 3 7      
 

 

 

 

 

 

    5 6      

 + 2. 5 1 9      

 +  1 2 3      

 +    5      
   1 2       

  2. 7 0 3      
 

 

   5 9 2      

 +  4 1 3      

 +  7 1 6      

 +  8 2 4      
  2 1 1       

  2. 5 4 5      
 

 

    5 7      

 +  8 1 2      

 + 4. 6 5 2      

 +    8      
  1 1 1       

  5. 5 2 9      
 
 

  2. 3 5 4      

 +  6 5 4      

 +  8 1 2      

 + 4. 6 8 4      
  2 2 1       

  8. 5 0 4      
 

 


